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1. /(ta,n2 z —csc’z)dz =

(a) —z+tanz+cotz+C
(b) z?+tan z+cot z+C
(¢c) z+tan® x4+ cot’ z+C
(d) 2> —tanz—cot x+C

(e) z*+tan z—cot x+C

(a) 0.1
(b) 0.2
(c) 045
(d) 0.6

(e) 09
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3. Ifgla)=[ Intdt+ [, In(t+ 1) dt, then ¢'(2) =
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4. If f'(z) = V4e* — 1, then the length of the curve y = f(z), 0 <z <1, is
equal to

(a) 2e—2
(b) 2e—4
(c) 4e—2
(d) 2e—1

(e) e—2
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5. Using two rectangles and taking the sample points to be midpoints, the
estimate of the area under the graph of f(z) = ¢* fromz =0to z =4 is
equal to

(2) 2(e+e’)
(b) 3(e+e)
(c) 3(2e+¢’)
(d) 2(e*+¢°)

(e) 3(e®+¢€)

. : : 122 -3
6. Using partial fractions, / z i =

0 224

(a) I—Zln3
() 1+3In3
@)2+%m3
m)g—%m3
) 1—=2In3
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7. /(:E+1)seca: tan pds =

(a) (z+1)secz—In|sec z+tan z|+C
(b) (x+1) tan  — In|sec z + tan z| + C
(c) (xz+1)tan z+In|sec z +tan z| + C
(d) (z+1)secz+In|secz—tan z|+C

(e) (z+1)sec ztan z + In|sec z + tan z| + C

/8
8. / / 4 sin’z cos’zdr =
0

(Hint: Use the double angle identify sin(2z) = 2 sinz cosz first)
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9. /0 "2 cos (4z) cos (bz) dx =

10. /0 10% do =
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11.

12.

The area under the curve

y=+Vn?—2x2 from z =0 to z=_

is equal to
™ /3
(a) ﬁ+ 3
3 372
b) —
(b) 5T 3
3 RV
(c) §+ 6
3 3?2
(d) -4
3 372
(e) R
1142z
/01+:z:2d$:
™ 1
(a) Z+§ln2
T 1
™ 1
—+ -1
(c) 4+4 n 2
T 1
(e) —+lln2
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13.  The area enclosed by the curves y = z2 and y = 4 |z| is equal to

14. Let R be the region bounded by the linesy = z+1, y =2 and x = 0. The
volume of the solid obtained by rotating R about the line y = —1 is equal
to
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o0
15.  The sequence {1 — sin (anj_ 1) }n= ’

(a) converges to 0

1
(b) converges to 5

(c) converges to 1

(d) converges to — 3

(e) diverges

16.  The geometric series

5 (r — 4)"

n=0

(a) converges to

(b) converges to

(c) diverges to + oo

(d) diverges to — oo

(e) converges to
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17.

18.
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For positive real numbers a and b, the series )

if

n=1

(

an® +bn +1

bn?+an+1

n
) converges
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19.  The series

%0 (2n)!
=1 (3)(5)(7) ... (2n+1)

is

(a) divergent by the Ratio Test

(b) convergent by the Ratio Test

(c) a series for which the Ratio Test is inconclusive
(d) conditionally convergent

(e) absolutely convergent

20.  Which of the following statements is True?

n=1 TL'
x© n?—1
b i t
(b) nz=:1 T s convergen
00 —1)!
(c) > i : ) is convergent
n=1 n:
o
(d) > (—1)" is conditionally convergent
n=1
00 _1 n
(e) > (=1) is divergent
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21.

22.

.o & ("
The series
ngl VN + 1

(a) converges conditionally
(b) converges absolutely
(c) diverges

(d) converges as a geometric series

. . 1
(e) converges as a p— series with p = 2

Which of the following series is convergent?

0 : 2
L Z (smn)
n=1

n

P —1
0 tan™" n
n=1 n

1. 3
nz=:1 2n2 —n

(a) T and IIT only

(b) I and II only

(c) II and III only
(d) all of I, 1II, and III

(e) none of I, II, or III
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23.  The interval of convergence of the series

o 1 n

2.0
(a) I= [—e?e)
(b) I= (—67 6]
(c) I=10,€
(d) I= (076]

(e) I=][—e,0)U(0,e€]

1
24.  Using the Integral Test Remainder Estimate for the series Z —, we find
-1n
that the smallest number of terms needed to ensure that the sum is accu-

rate to within 0.009 is equal to
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25.

26.

The Maclaurin series for f(z) = sin (3z) is

(a) 320(‘ A (2:::-“1)!
) 8 5o
(©) 20(_27)n (2:;21:11)!
@ 5oy
@ S

1 .
The Taylor series for f(z) = - centered at a =1 is

‘ MASTER
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27.

28.

/02 e~ dt =

The series ) e

P I I, converges if

(a) p+g>1
(b) p+g< -1
(c) p+g=1
@ pta=y

() —1<p+g<1
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